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SARDAR PATEL UNIVERSITY 
BA I Semester Examination 

Wednesday, 4 December 2013 
10.30 am -1.30 pm 

UA01 CEC002 - Indian Economics - II 

Total Marks : 70 
Note: Figures to right indicate marks. 

0.1 Answer in brief Any Six questions from following. 

1. State the meaning of unemployment. 
2. Explain the meaning of planning. 
3. State the meaning of 'NREGA'. 
4. Explain the meaning of poverty. 
5. Any Three factors affecting the crop pattern. 
6. State the objectives of New Industrial Policy. 
7. What is Privatization 
8 Explain the meaning of undeveloped country. 
9. State the meaning of Globalization. 

10. Explain the meaning of Transportation. 

0.2 Explain in detail the causes for unemployment in India. 
OR 

0.2 Explain in detail the National Rural Employment Guarantee Act 
(NREGA) 

0.3 Discuss the causes of poverty in India. 
OR 

0.3 State in detail tile low productivity of Indian Agriculture. 

0.4 Describe in detail the limitations of Indian planning. 

Q.4 1. 
2. 

OR 
State the characteristics of undeveloped country. 
Remedies of Eradication of poverty in India. 
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